
support@a-ecoliving.com

HDPE Bar Arm Chair (104071)



13

support@a-ecoliving.com

INTRODUCTION



HDPE Bar Arm Chair

12 01



Use the Allen wrench and Screw M6*45 (M645) to fix the Back Panel Support 

 and Seat Panel Support (I).

 (J)

1102

support@a-ecoliving.com



Attach the Right Armrest to the Back Panel Support  with Screws M6*45 (M645) and Screws

 M6*30 (M630) by using Allen Wrench .

(K)

Attach the Left Armrest to the Seat Panel  with Screws M6*85 (M685) and Screws 

M6*65 (M665) by using an Allen Wrench .

(A)

10 03

support@a-ecoliving.com



PART  LIST
A

F

K

B

G

L

C

H

M

D

I

O

E

J

P

HARDWARE LIST

04

Attach the  to the Right Armrest Frame and  to the Left Armrest Frame with Screws 

M6*45 (M645) by using Allen Wrench .

(O) (P)

09

Attach the Right Armrest to the Seat Panel (A) with Screws M6*85 (M685) and 
Screws M6*65 (M665) by using an Allen Wrench. Please note that need to 
assemble Part I at the same time.



05

Attach the Back Panel  to the Seat Panel  with Bolt M6*45 (M645) by

 using Allen Wrench .

(B) (A)

Attach the Right Armrest  to the (C&E) and the Left Armrest  to the (F&D)
 with Screws M6*45 (M645) by using Allen Wrench .

(G) (H)

08



06 07

Put the Foam  on the bottom as a support. And then press firmly in the middle 
of (K) to align the screw holes and install it. Attach the Back Panel Support (K) to
 the Back Panel (B) with Bolt M6*30 (M630) by using Allen Wrench . Install the 
middle hole first, and then the holes on both sides.

Attach the Back Panel Support  to the Back Panel  with Bolt M6*30 (M630) by 
using Allen Wrench . Install the middle hole first, and then the holes on both sides.
 Put the Foam Pad  on the bottom as a support.

 (J) (B)


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8

